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(FF5F4RA1H~FF6EIA31H)

(BifL: FH)
® A AHEEMWESEH ;fi At MEETRE il =
I EEFEHMNZO
1 BEEEIA
(1) ERGEERIRA 1,746 2,619 4,365 4,365 0
7 ERMEFRIRA 1,746 2,619 4,365 4,365 O|EREDINE LI EMEERHITHY
ERED0%EEARECHY
(2) FEZEERIA 335 0 335 448 A 113
7 HEEEFBIRA 335 0 335 448 A M3 ERBRELABBEMEERFITHY
(3) RBIWA 50 0 50 50 0
7 BHRESEBERA 50 0 50 50 O ZAERE 20FM x1$4t=20FH
BALE 5FMx6A=30FH
(4) 3#IRA 1 0 1 1 0
7 ZEFRIRA 1 0 1 1 OB BELFIR
BETFHRAG W 2,132 2,619 4,751 4,864 A 113
2 BEFEHXH
(1) BEEXH 9,854 0 9,854 10,054 A 200
7 MR XEEEERH 8,000 0 8,000 8,000 0
Bipi £t 8,000 0 8,000 8,000 0|@1,000F 4 x 844
1 BNRREXREEEEIH 600 0 600 800 A 200
B &t 600 0 600 800 A 200(@ 200FF x 34
Y O ENRAXIBEREEXE 600 0 600 600 0
B &t 600 0 600 600 0|@ 300FM x 24
I PHHARKREREEEXE 114 0 114 114 0
BIEEME N 74 0 74 74 O|EMEH, WEBH —/N\—ffiiFEEE
FIRI S AR E X H 40 0 40 40 0| &IRENFIE S
4 HEERELMAESEEIH 420 0 420 420 0
RERBEE N 182 0 182 182 0|$BEE IR &
BIEEME N 25 0 25 25 0
HEREBEXH 20 0 20 20 o|BER—
FIRI S AR E X H 65 0 65 65 O|FS %R
EEHZH 20 0 20 20 0|=HERR
EiE o] 108 0 108 108 WEAGEEN
H TOMBEERE 120 0 120 120 0
RERBEEZH 20 0 20 20 O|BREEEESERAE
EiE o] 100 0 100 100 O\ EXETEE
(2) EBEXH 0 948 948 948 0
7 EREXH 0 948 948 948 0
REBEXH 0 50 50 50 O|REBERGERAR
RERBEEZ Y 0 88 88 88 O|BRAES
BIEEME Y 0 40 40 40 O|EMERIE
HEMNSRIEREIEH 0 10 10 10 0|=HAHES
BREXH 0 4 4 4 O|=EMK
HEREXH 0 50 50 50 O|=HAXES
FIRISAE X H 0 50 50 50 0| HEENRIZ%
SEEMZH 0 159 159 159 O|&HVRTLERHSE
aELxH 0 20 20 20 O|FETcsmMaESSE
ARARZH 0 5 5 5 O|FN#RF
RitEH 0 462 462 462 O|=ETEMERRIHNSE
FHHZH 0 10 10 10 O|EMEIRE FHHE
EHFTZHEB) 9,854 948 10,802 11,002 A 200
EHIEHINZEEL(C) =(A)—(B) A 1722 1,671 A 6,051 A 6,138 87
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® A ABEMERRE| FZARH |t MELTRE| A B
IHREZDRNZ DI
1 REEEIA
(1) EAEAEEELHRIRA 0 0 0 0 0
7 EARMEERERRA 0 0 0 0 0
(2) BEEEIARA 1,722 0 1,722 34,493 A 26,771
7 BIREETEIL A EEAIA 1,722 0 1,722 34,493 A 26,771
HEFHIRAGD) 1,722 0 1,722 34,493 A 26,771
2 BEFEHIH
(1) BARMERG K H 0 0 0 0 0
7 EXRMERGXH 0 0 0 0 0
(2) BEAERSXH 0 0 0 26,684 A 26,684
7 BREEERIEERSXH 0 0 0 26,684 A 26,684
REFEIHEHE) 0 0 0 26,684 A 26,684
BB FHIRZZELE(F) =0D)—(E) 1,722 0 1,722 7,809 A 87
IR Z%8(G) =(C)+(F) 0 1,671 1,671 1,671 0
I FEEZHH) 100 0 100 100 0
HHURK ZEED =(G)—(H) A 100 1,671 1,571 1,571 0
RTINS Z5E(Y) A 26,191 20,532 A 5,659 A 5,506 A 153
REFFEHUR T ZFEEK) =D + () A 26,291 22,203 A 4,088 A 3,935 A 153




